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AT A9 -

General Instructions: -
> T 40 9T 2|
Total number of questions is 40.

> AT T o 39T A=A 2

All questions are mandatory.

> Tod® 7o o forw ua s (e 8

One mark is assigned to each question.

> T® T o AL (e iU 0 81 @al foses &1 =97 fifer|

There are four options for each of the questions. Choose the correct option.
> Ad I o o0 Fl5 3% Tg! FHl ST

There is no negative marking for wrong answer.

1. AT FT FF FF F T FI9 781 8-

(a) TSI T FHheAd (b) SATHST T AT

OEEEEIREELLI (d) AFET FT TATTHT

Which of the following is not the function of statistics?

(a) Collection of Data (b) Classification of Data

(c) Analysis of Data (d) Forecasting of Data
2. 9T AHST | FA =L T (FHI07 Tashl o 3297 | FdT &, Tgl eqH & —

(a) TF IeATEH (b) T faskar

(C) T ITTIHT (d) T faqeorear

Shyam makes Furniture to sale, Shyam is here -

(a) A producer (b) A Seller

(c) A consumer (d) A distributor

3. HATHET HUG FLA ATAT AT<h FHEATAT § —
(a) TUETHRTT (b) wEeTF
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(c) =Tar (d) sfTeEx
A person who collects Data is known as -
(a) Enumerator (b) Demonstrator
(c) Producer (d) Operator
4, TS AT § TEAT ST o6 99 g5 o172

In which year the first census was done in independent India?

(a) 1950 (b) 1951
(c) 1953 (d) 1881

5. T % ATATT AHI2d [T SITH ATl ATHES| o AV 10T Tl Fgd g —
(a) TR F(THT0 (b) FTATLH e AT
() ATATH T (d) TUTTeH ATy

Grouping of Data on the basis of time is known as -
(a) Spatial Classification (b) Chronological Classification

(c) Quantitative Classification (d) Qualitative Classification

6. et vt &1 wer-foig &1 719 A1 T Sirar @ —
(a) S A AT TAT 5 a1 HAT F AT 5T
(b) IF A =T AT 5 97 =T F S| g
(c) Sg & HHT TAT [H 1 HAT % [OEHA FT
(d) Ig a1 =T AT 95 97 HHT 6 TR 51T

Mid-point of any class can be calculated by-

(a) the ratio of higher limit and lower limit of class

(b) the average of higher limit and lower limit of class

(c) the multiplication of higher limit and lower limit of class

(d) the addition of higher limit and lower limit of class

7. 99 H AT §
(a) SATerha® T ~ATH SEAUTT T STATT
(b) SATFAH T ~IATH T&A0TN o AT T HAL
(C) =IATH T ATEFHAH &AM o AT T AT
(d) ATERaH Ta ~IAqH T&A0TT T fTed
What does Range mean? -
(a) Ratio of maximum and minimum observation
(b) Difference between maximum and minimum observation
(c) Difference between minimum and maximum observation
(d) Average of maximum and minimum observation
8. FA AT g —
(a) U= o s (b) f3 fadrT s
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(REREEIREEIEEC] (d) srfair s
Pie Diagram is -
(a) Uni-dimension diagram (b) Bi-dimensional diagram
(c) Tri-dimensional diagram (d) Non dimensional diagram
9. sraa == o |Teaw | AT 6T ST Tt B —
What can be found by Histogram?
(a) ATeT  mean (b) wfET=T median
(c) 9g<Th mode (d) 9719 range
10. 90 9@ § I & 100 TG AW | FeT 1a7 &, SrEH Teds AW FT 09T grav g—
Circle in a pie diagram is divided in 100 equal parts, the degree of each part is -
(a) 3.6° (b) 5°
(c) 1° (d) 36°
11. 130 U SAiwET | TgA® T AT AT D910 —
Calculate mode from the given data -
12, 15,17, 19, 23, 26, 6, 8, 12, 26, 51, 53, 26, 52
(a) 10 (b) 15
(c) 26 (d) 52
12. 94T 98 719 ¢ ST (U g0 AFST & qiedl g —
Quartile is a measure which divides the data
(a) TT TLEL O H Into two equal parts
(b) = sTET 9T H Into three equal parts
(c) =TT FIXTEX 9N # Into four equal part
(d) o= FETET 9 ¥ Into five equal parts
13. Feferfea # & wrfeasr it us f&erwar i =t 272

Which of the following is one of the characteristics of median?

(a) T ATHST AT & AWM § FFaTorg wedt g

It divides the data into two equal parts.

(b) T ATHET T AT AW H FAATISIT F2AT 2

It divides the data into four equal parts.

(c) TE AHET & =ILH AN 9T W9 FAT ¢

It depends upon the extreme values of data.

(d) SATHEST | THAT ST qATTH el &
It has highest frequency in the data.
14. 795 T30 T SATRET & 209 T T0ET o0 —

Calculate range from the following given data
20, 30, 40, 50, 150
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(a) 50 (b) 150
(c) 130 (d) 170
15. 795 & § 19 [0 i SAFHT=aT i 7T FLdT 82
Which of the following measures inequality of distribution?
(a) IETZAT 9% Frequency Curve (b) sttsIT=ar Ogive
(c) AT a®  Lorenz curve (d) FZHEY UM coefficient of correlation
16. 20 U sffereT & ATHE-TA=E Y T it —

Calculate Standard Deviation from the following data

4,5,6,7,8
(@ 1 (b) 1.414
(c) 4.472 (d) 1.732

17. 9% = <7 =20 o 19 (o6 TohTE o dgaad i q9rdr 872

The following diagram shows which type of correlation between two variables?

A

Y

X v

(@) g-TcH= TgH«Y (Positive correlation)

(b) Ut g=TeH® ggHad (Perfectly positive correlation)
(c) FEUITcH GgHad (negative correlation)
(d) =Ts wggad gl (no correlation)

18. I a= AgHae T T HIT gIaTl g —

The value of Pearson’s coefficient correlation is
(@ 0 (b) +1
(c) -1 (d) +1 7 -1 % S=(Between +1 and -1
19. AT TAH o FIT ATIAT 872

What does Price Index measure?
() STETT AW T AT H AT a9 hl Hiqdl | e qiaad

Average change in the price in current year in comparison to the base year
(b) FTATT Y sl TAAT | AT W Al AT § Seq T

Average change in the price in base year in comparison to  current year
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(C) ATLTT AY =l TAAT | ATHTT Y sl HIAT H AT Iaad

Average change in the quantity current year in comparison to base year

(d) FAATT Y T TAAT § AT Y T IcATEA H AT Taad

Average change in the production of base year in comparison to current year

20. 9T<T T o AT § 9 % &9 § fohg 719 7 foram Smar g -

In the Price Index of Paasche’s, which value is taken as weight-
(@) o (b) Py

(©) @ (d) g0
21. 93 § Filg Td SEATd SN HT (AahTd TEH g3 2-

When did Iron and Steel industry begin to develop in India?
(a) 18 = erdTsat & YTEA ¥ (in the beginning of 18th Century)
(b) 19 =T eraTeat & q@TH # (in the first half of 19t century)
(c) 19 =T eraTear & I H (in the latter half of 19th century)
(d) 20 =i oraTedt F IRT T (in the beginning of 20t century)

22. AT H STATTReh = FRAOT T T AT TR STafer il JTAT SITAT ST 872

Which of the following period is known as the first stage of demographic transition in India?

(a) F 1921 & T4 (before 1921) (b) T 1921(Year 1921)

(c) & 1921 % == (after 1921) (d) 7 1922(Year 1922)
23. ARA T TR A § ST 958 Gaas 17 51 68 <97 & & T 872

The word “Five-year plan” in Indian National Planning is taken from which country?
(a) =T (America) (b) FATET (Canada)
(c) 7@ |ifaaa =4 (USSR) (d) W= France
24 I ATAT ST &-

Tariff is imposed-

(a) F¥q * IcaTaA 9¥ (on the production of goods)

(b) A== AT 9T (Inter-state trade)
(c) R=Tefa a=qaT 9% (on exported goods)
(d) srATiaT aEgelt 9% on imported goods
25. 9TCd ST 39T § T IARM Al TR FA & FAT HILT &7 Tahd 82 Fel & TIRT Fd gU dgl
e &7 93w ity —

What should be the reason to promote small scale industries in India? Choose the correct

option by using given codes

1. frr ST & srareThar

Requirement of less capital
2. SATer TSI T Gold Hdel | qeqH

Capable to generate more employment opportunities
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3. T IR & AT FTAeTeT Fied § FeI7
Capable to compete with large scale industries
(@ FaT1  (only 1) (b)yFaT2  (only 2)
(c)1Tar2 (1and?2) (d)1,2q9r 3 (1,2 and 3)
26. forsar AT |15 &7 T fohe Ay 3T =T 82
When was World Trade Organisation Established?
(a) 1945 (b) 1955
(c) 1965 (d) 1995
27. 7% &feie A1fa-1991 & T ITAT &-
The three sub classes of New Economic Policy-1991 are-
(a) IITLHT Liberalisation (b) fA=tr=TT privatisation
(c) F=fr=¥oT Globalisation (d) 3% T+ all the above
28. FAHTH | TSI &% & [oI0 e SRl HE&AT 872

Number of industries reserved for public sector at present are industries of Public Sector in

present are
(a) 3 (b) 4
(€)5 (d) 6
29. AT LRI o FreAT 1 srferanme srfarfaae &y e a 9y frar?
In which year Govt. of India implemented Right to education act?
(a) 2006 (b) 2009
(c) 2011 (d) 2014
30. fd AT ATTEAT % oY TANT FTA ATAT << AT SATAT 72

Which country is said to be best user of world knowledge economy?
(a) IraTetE (Ireland) (b) AT (Norway)
(c) 7stiie (New Zealand) (d) ST (Japan)
31. 9799 ISi o F&H § H9 FHIT &l F0r 97 @G i)
Consider the following assertion and reason regarding human capital.
FIF(A) - AT IS(T AF9T gt g1 Human capital is invisible.
FOT(R) — T T & Hieaoh § THI-aHT 2l gl

It is inculcated in the mind of bearer.
ITH HAT AT HICH 6 Gael | i 97 (oo dgl g2

Which of the following options is correct regarding the above assertion and reason?
(a) Fasr A Gl g1 only A is right
(b) = R @&t g1 only R is right
(c) AT R M Tl g qaT R, A Fit Tgl SATEAT FHdT gl
A and R both are correct and R explains A correctly
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(d) A #fiT R T 981 & e R, A #T =TT 981 T 2
A and R both are correct but R is not the correct explanation of A
32. ATILLT TS T Hael g-
Operation Flood is related to
(a) 39 % IcaTeA | the production of milk
(b) =T % IcUTET A the production of fish
() 3TTST % IcqTe | the production of grains
(d) e 3 3cqTaA | the production of fruits
33. T TEoT-fH= WrenReht i1 dag Fe 7 € 872

Eco friendly technology is related to

(a) FT & ST @13 % TIT & (use of bio-compost in farming)

(b) FT & T @1 & TIRT 7 (use of chemical fertilizer in farming)

(c) T ® TrATAF HeATefT & TN 7 (use of chemical pesticides in farming)
(d) FT & AT "@E i dieqaneft F v ¥ (farming without any fertilizer and

pesticides)

34. 9T § STTEraRier ATHHT & TSHIT &7 A7d A9 § T 797 872

What is the main source of employment for the labourers of India?

B RIRIEERE Primary sector (b) fa<t== &= Secondary sector
(c) qait=ra &1 Tertiary sector (d) b T& ¢ T both b and ¢
35. AT A5z A & & 4T FigeATd 82

Construction workers are called-

(a) = =gt arer =& (workers of regular wages)

(b) FEETET worgdT ater =9 (daily wage workers)
(c) TTTSa &= AT ( workers of organised sector)
(d) ==-Frfora i@ (self-employed workers)

36. TATHLONT HHTLT FT TF 318 -
An example of renewable resources-

(a) a1 ¥ UE trees in forest (b) ¥z & Al fishes in sea
(c) a g b =i both aand b (d) StraTew $o+ fossil fuel
37. 5w e T 389T —

The objective of chipko movement is —
(a) TRUTT waT | FAT T HLEA FHLAT

To conserve forests in the Himalayas
(b) TET TN | FAT FT HLETT FLAT
To conserve forests in coastal areas

(c) BaTHT &= | F[ T L& FLAT To conserve forests in plains
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(d) TBTET &= | F1 FT LT FIAT To conserve forests in plateau areas
38. 3T ITUAT T THE HILT &-

The main reason of global warming is —
(a) TI=AT F ATATALOT § fET qTIHT § ATz

Increase in average temperature on the Earth’s atmosphere
(b) HHE & ATATALOT § ET ATOHE § g

Increase in average temperature in Ocean environment
(c) T2\ =T freret=T Melting of glaciers
(d) i+ g« F=T § g5 Increase in Green House gases
39. <1+ & UTHIOT &A1 § Y 0 0 ‘e’ &7 dag Fo a1 g -
The ‘Commune’ started in the rural areas of China is related to -
(a) \THfE® @dt & Collective farming
(b) @ % ATfE® “<&0 F 7 Collective conservation of forests
(c) Tfe® =TI 7 Collective trade

(c) \THfE® 3=\ & Collective entrepreneurship
40. 979 TorshTe Tehdehl & ST 9 960 § F -7 397 TIH T7H 9T 872

On the basis of HDI which of the following country stands on the first place?
(a) 9<a India (b) #+ China
(c) AT Nepal (d) uTferEaTe Pakistan
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HISA T FT IAT Foit

F1a-11
[ELREERRILC]
qT [SRES qT [SALES
1 d 21 d
2 a 22 a
3 a 23 c
4 b 24 d
5 b 25 c
6 b 26 d
7 b 27 d
8 a 28 a
9 c 29 b
10 a 30 a
11 c 31 c
12 c 32 a
13 a 33 a
14 c 34 a
15 c 35 b
16 b 36 c
17 b 37 a
18 d 38 d
19 a 39 a
20 c 40 b
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